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ibn
mnIpkcuts the curveexactly
to 682 symmetrical
zo 957

I 3o 99.72

Mean 8.96

Median 8 Mode 8

how spread out thequizmarks are
Z score looks at specific values and comparesthem
to the whole 2 250

4 8.96

I
0.0384 100
3.8424 8.96 got a marklower
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100 3.84 96.16 got amark
9than 4

higherthan4

I 6.5 hours x 22 hours
0 4.2 hours

2 x.IT
22 6.5

4.2
3 69

The biggest 2 value that the table holds
is 3.49 The percentage of the population
that livesbelow that value is 99.98
Caitlyn is an outlier
no onepractices more than she does
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